Mission SAMRATH
Holidays

Class: 6th to 8th
Subject : Maths

SCERT, PUNJAB




Homework from Mission SAMRATH Worksheets

Ql: fHAs mHdE & gade 9 1 3 10 eIanie I8 I3
In Mission SAMRATH Booklet:Try to solve worksheet 1 to worksheet 10

Q2: J&t &3 e 3 A a9d fegs IEfed § Wi ufges © Aget &8 a9
Click on the following link and do these activities with your family members:

1. Jive da naam, uve di kimat 2. Sankhya Chakar

Q3: s g Ifedt fiue & wes U Iffa fos g 3973 enrar it Jrat
JStfett iR fa Aer, .8 Sy, Ha3m-fuzr & AgfesT ad&T, 33T, U3e
wife & 37 AHF & a3
Develop a habit of diary writing in your holidays. On one usual day note the

amount of time spent by you in different activities like sleeping, watching T.V.,

helping your parents, playing, studying etc.

B 8. J3ifedr AHT (dfenr f3g)/

Time (in hours)

HE/ sleeping

3. & {@YE/ watching T.V

Hf 57U ©F AITE3T IJ&7/ helping parents
v3e/ playing

UZE'/ studying

JHI3 dJ6™/ Yoga

~N| o o B W | DN |

HE8® 36 ©f @93 9J&/ using mobile phone

Q4: 3T3 YT Y TII © Wi'd T 5 T B3|

Find five objects in your house which are of circular shape.



https://youtu.be/ekhBtbyMxUw?si=cpWtuyRAmxQBxbCx
https://youtu.be/0sTupwrAOuU?si=KHNdc7mdG96yAZe1

Project Work

Q5: WUE WJ T i Hdls © °a9 © gdc g6 fir @9 J& &9 He afHs a9

He HITS T WESHTES HITT

HEA W3 28 T HIOT

SLERSURCSISL

HI® © 98 T ygor

We-r'e € Hdd'

U T "ygar

g Ute (IHG) ©F Hao'

ACHAS! © Hag'

Jed®/ TS T HIg'

TIEM T ygor

uer T 58

farst T 58

HEITS

d8 HJg'

3H GuUIT3 famrg a3 gre &9 Hdls @ d% Hao 99 1500 U ©F I3t
d3& gde Jd 3 fog I3 3R fa SI9171500 JUR T IS A5 GuUd3
feg Ao st TaOT Q|

&< for 38 3F wruE Wa3r-fuzT 7 €3 3¢ 39" ©f AUfE3T 8 Aae J




s a9 T
TIaHIE -1
g Aftpret &% Bt

yre 1
=wt & fars w3 wet e 3 S A

Count and circle the number of fruits in each box.
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yrs 2 : 35t fe3 fosat § fa 3 8ost & At fasst 5% fies =9

Count the following pictures and match with the correct number:

s A A A X

5 © 00O O

A AA AAAA

EOXOX®,

i N

e 1 BRI

yrs 3: fe3 o o'zt § foe @ fegst & At foest @ 39 f3 9@ g'ag § 39

Fill the circle given under the correct number of the given figures.
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yAs 2: Ufsnt g farg »i3 fegst & wftmr § aan nieg fad |

Count the leaves and write their number in box.

N

L) )
A1) )

A3 1)) ) )

yHs 3 35 fou qEst § Aftnr qu oo fod

Write the following statements in number form.

1.fieg 3% @A JUT To 10 que
. 10 Rupees
Jinder has ten rupees.
2.f&'x ufges o vis It os [ gt
A family has eightcows | cows
3E & U Htes quz wdtferr Hied
............. meter
Preeti bought five meters of cloth.
4515t & € Fteg gu vdtfeonr [ dleq |
Jiti bought two litres of milk. ‘ ------ Litre ‘




s a9 T
IJaHIE -3
g Hithmet 3% 83t

YAG 1: Aget f¥9 T9Ae I 39 § fest wftmr wighn Jot fe'3 fo'se ao8:

Draw the pictures as given in box

Picture | Number Pictures as per number




YA 2: farg w3 Jar 331

Count and colour.

6
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wlslelofolvnle;
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— [\O | Ol N OO W

> 4 3 nardt At J1 Next numberofdis

> 7 3 fugst Afum™ __ I Number before 7 is

> nEest At g m?rsa w3 fugst ﬂftmrr ) ﬁ«lde frg™ "™ J 1 Next number is

called s and previous number is called predec



s a9 T

SISHIE -4
g Aftnret 5% u3ie
yRs 1 : Jo fe3 ymst & 839 fel:
Answer the following Questions
o f&X vig it 3% Aftet I5 |
Total one digit numbers are .
o f&& wia & A3 3 T3t Aftnrr JI
The greatest one digit number is .
o &I nig & A3 3 22t At JI
The smallest one digit number is .
o FHithr 2 &t nidi3g Aftmr JI
Successor of 1 is .
o Tt 3 &t fugsg Aftr JI

Predecessor of 3 is

YHS 2: 99 g9 feg Ag 3 3t At €3 gior wars:

Circle the greatest number in each box




UHs 3:
H-H'é' W= I8 I/ Solve by understanding

5,6 ,__,_,9,

M, 15, 17
7,11, 13,
_, 5 L9, __, 11
_,_,3,_,5,6,__,__
13, _,__,__,17,18, __, __
__,12,13,__, 15,

1 ., 6,7
9, ,_,_,13,__,__,16
12, 13, 17, __, __
YHS 4:

&3 a1s & Mg & Ja1 931

Colour by understanding the given pattern:

OC®O®OO
5 B 0
Y %k < K& K
n ol ol o




fvrs maE
SILHIE -5
g Hfimret o5 431
yms 1: 96 a3 fdgnr § Tue i fSa s

Join the given numbers in ascending order.

9
.10
12
Rt .
. 13
14
17 . 15
16

)
€ Js
- .v. - 14
-33 oy
- ol r 13e
-1z
IS
35 o
> 10 %1
=
3 T -39 = -,
-40 -
ra
41 L -5
47ql
-2 -s
a3 - . S %4
- e - o -
aa as J 2



YAG 2: 858 i3 Stét € forest & mvse dT gt v ferfzs qu »i= fimrdt qu, urdt
gt feg 33| (1 ¥5% = 10 St&ini)

After understanding the concept of bundles and sticks, write the expanded and
standard form of a number in the blank. (1Bundle=10 Sticks)

935 n3 St = feAfzz U = st qu

(Bundles) ( Sticks) (Expanded Form) (Standard Form)

UYL -

TEAR R w3 = 40 + 3 = 43

T . 0. .
TIIT. I . .

A 1 1 1

YRS 3: Afgorr 87 Guess the number?
(1 §8% = 10 St&r®) (1Bundle=10 Sticks)

7d8% w3 3 3Bt = 73, 7 Bundle and 3 Sticks = .. .73 ..
6 98% W3 2 Bt = . 6 Bundle and 2 Sticks = ... ..

2 93% M3 0 @t = 2 Bundle and 0 Sticks = ...
5988 M3 9 @t = 5 Bundle and 9 Sticks = ...

6 98% w3 0 Bt = . 6 Bundle and 0 Sticks = ... ..

7 93% M3 1 Bt = 7 Bundle and 1 Sticks = ... .



s mHT T
TISHIE -6

g Aftret &% Bt

yrs 1: 991 € FaA § 8fe3 Aftmr 573 31

Fill the coloured box by suitable number.

9 + 6 = - = 9
+ -
4 | + + = |12
10 | - = | 8
13
YHS 2:
AHE W3 I8 3/ Solve by understanding
6 |+ = [14]| [20| - [12] =
+ + + + + +
+ |9 = |16 29 =13
13| + - =




Fun Math Puzzle
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YASG-5:
1) 98t ' 93: Fill in the blanks.

l. 5+7=

N, 15-3=
2) IS I3 Solve.
.  5f39 873 Add8in5

. 10 f@g 6 931 Add6in 10

. 9fed 7 WG| Subtract 7 from 9

V. 1439 8 WZTG| Subtract 8 from 14

3)  friegd 3% 12 JUT T51 A9 €Ad 5 Ju? = f&'q grarar udle fonr
3 gralt g9 guT T i Us ydte feum) Us & i3 u3T 3|

Jindal has 12 rupees. If he bought a balloon for Rs. 5 and a pen with the remaining

money. Find the cost of the pen.

4) i AT 15 AAT US 7S filgt f£'F 6 vag T a2 EARfUzT#l &
€73 10 79 U J9 31 ©F Mt 35 &3 ARt A9 U6 597

Jiti had 15 sketch pens of which 6 got damaged. Her father gave 10
more sketch pens to her. Tell how many good sketch pens are left with

her.



Ql: s AHdE & gade &9 11 3 20 SIamne I8 I3
In Mission SAMRATH Booklet:Try to solve worksheet 11 to worksheet 20

Q2: I &3 & 3 B I9d fegat ISttt § Wi ufged © ASg’ &8 a3
Click on the following link and do these activities with your family members:
1. Taadi Chutki 2. Dugna Karo

Q3: st f&g Ifedt ByE & Wes Uit fos g 3J3 enrdr St Irdmi
ISttt e fx AT, .8 fuer, W gY < AofesT J3&, § 37 A
&< 31 Develop a habit of diary writing in your holidays. On one usual day

note the amount of time spent by you in different activities like sleeping,
watching T.V., helping your parents etc.

IrStfed ANt (Ufenr fE9) AH (fHet f9)
Time (in hours) Time (in minutes)

1) HE'/ sleeping

2) S1.& |HE/ watching T.V

3) Hf gy & AIE3T JI&/

helping parents
4) B3€"/ playing

5) UFe'/ studying

6) IAI3 ddAY Yoga

7) 988 @& © €33 aIaY

using mobile phone

Q4: 3T WI ST T © Wid'g it 5 THIW B3|
Find five objects in your house which are of circular shape.

Q5: 3T3 WJ 9 T & Wig T 5 TAZN 83 W3 §IaT T UIgHY U™ 3|

Find five objects in your house which are of square shape and measure its perimeter.



https://youtu.be/O110bmUaFGI?si=4UR5HyUPP2e4iQM7
https://youtu.be/TiM0SGVOdRc?si=EVkoJuBelRbOpit9

Project Work

Q6: MUE WJ T B HJls © Hao © gdc 928 for €9 J& 89 v 7fHs Jo:

He HItS T WEHTES HIgT

ASH W3 28 T 4T

SLRSLRCSISL

HI® € 998 o ygor

wWre-d'e €T Hdd'

U T "UggT

g% Uie (IHS) ©F °Hdor

ACHAI! © Had'

VedB/ IHAS T YIg'

TIEM T ygor

uet T 98

fardt T 58

HEIAS

d& HJo'

IA QUIT3 fanrg 13 grc T HdlS € 9% Hag f*9 1500 JUR & a3t
I35 TIe Jd 3F fog I3 3R fa SI91?71500 JUR T I3 A6 GUT3
feg AgS g9 €I

&< for 38 3 WuE War-fuzT 7F €3 3¢ 39" ©l Agfe3T 8 Aae I




TITHIE-1

fias a9 g
g Rt o 85t ! |

symbol.

nderstanding the given

@QDDQQ

@vv?!v
- dgees
mﬁwc*v

& & &5

yrs: gt § AHSE 92 3% a9 |

Solve by u

& &5 &
&= &5 &2

s — 3

11
PellT
I

yrs: f9gt § AHSE 9T 3% a9 |




Solve by understanding the given symbol.

G Q +QQ=rH

29 S

\
J

W +330-( A

22 v 09 =[

QQ (M
Q+Q S

'8 Ny '
; b, " "

LN VOO
NONOINONO
<+

yEe: fogt € Aftmret g wer & 3 g2ar?

Que : Find two numbers which when subtracted gives result 3 ?




fiHAas AHT T
ITITHE-2
g Aftret 5% a5t ! |

yrs: gt § AHSE 92 3% a9 |

Solve by understanding the given symbol.

ST

TS 4
= A 5 - - L
- w - - == . - . - =
- - - - - - -

e
e
ee
ee
@
e
!

yrs: fdgt § mHse 9T I8 9|

Solve by understanding the given symbol.

o oy o o

= ——- [ ——- [ S S ——-

= e W

T | W . M e

o e ey e e — o e ey

[~ —- e e e m S VU S —-

—_———— — — — — oy -————— — — — -————— — — o

[ R ] e



yrs: fdgt § AHsE 9T I8 a9

Solve by understanding the given symbol.

34—13:[ ]

88—66:[ )

79 - 40

I
—
\ v

26 - 14 =

YHG: UST & II'S BAST T WI AFS 3
fdat g9 37

Find how far your friend’s house is from
school ?

eRst T 5T | w3 3 A ©F ot

Friend’s name | Distance from house to
school

yrs: fdgt § AHSTE 92 9% I3

Solve by understanding the given symbol.

2 < =1 . =6
w S =~ & -
> = @S * & -
o= D x @ -




fiEs AT E
TIHIE-3
g Aftet &% 3stE ! |
yrs: fdgt § AHST 98 9% 9|

Solve by understanding the given symbols.

12| + __._.iSE' &
w _lxEel

1
(]
I =y -1
[
ol

[ o i
s

Ll (PR
1

13




yms: foigt € Aftmret g wer & 51 3297

Que : Find two numbers which when subtracted gives result 51?

[

J

( 51

60 -9 |

YHS : 396113 a% 62 2 I5, 3 BAd 31
ge Mg €Az § © f&318R gT 39sAI3
o fdd g2 757

Taranjit had 62 marbles, and she gave 31
marbles to her friend. How many marbles
does Taranjit have now?

yrs : &g 39 9 45 A9 g5, i3 €3F
f&g 19 Ag o %2 T ISR JT 3¥ K9 I
fda AT 957

There are 45 apples in a box, and 19 of

them are picked, how many apples are still
in the box?




i AT E

IIaHIE-4
g Afte’ &% astE ! |

yrs: fogt § mise 3T I8 a9 »i3 feshet Aftmret § €fes <ar 575 i@

Solve by understanding the symbols and match the given numbers :

11 + 23 62 66 - 30
36 + 26 87 51 - 17
52 + 35 36 75 - 13
12 + 24 34 99 - 12

HHZ W3 I8 a3 Solve by understanding.

—

Gr2= - = =
" S O D N
€6 7 =2 o©o 1
5 1 8 a9 4
s 19 €6 = =3 s
& W W e W =
B B a8 . T e




yrs: s Agw ffg 55 fefenrast
A5 I0Eg A 37 fefentadt Ags &3
I TR gT AE® R fda fefenradt
J57

There were 55 students in a school. The
next year 37 students left the school.
Now, how many students are there in
school?

yns: f&a 29 fe9 75 deg vt
JITAIH & 8F 29 &9 34 &g I9
U ur fésr | ¥R g J9 fe9 98
Bl ust I9m?

There is 75 litres of water in a tub.

Hushraj added 34 litres of water. Now,
how much water is in tub?

T‘B(%gﬂé)—l%‘d'rf?

Ruksar bought a chocolate for Rs 15 and
chips for Rs 26. She gave Rs 50 to
shopkeeper. How much money does the
shopkeeper return to Ruksar?

yrs: Ags &9 45 IfuBzs ms1 €A
m%uaﬁr@amaa@m@ss
aﬁr@zaa%uﬁ?aéarélwaim
ﬁgﬁ%aﬁr@ﬁm?

There were 45 computers in a school of
which 12 got damaged. The school bought
35 new computers. Now how many

computers are there in school?




s AHTE
TITHIE- 5
g At o aste ! |

fdgt & AHse JT I a9l

Solve by understanding the given symbol.

666 + 222

SO0 + 5473

345 + 123

1058 + 9878

3344 + 22373

el @ AHS I I8 &9 ¢

Understand symbol and solve :

305 4337
+254 +1323

236 1564
+217 +3039

yrs: fEx Ags 99 379 &3 »i3 436
It ugent I51 Ag® K9 J%
ff fefanmoet uge 757

In a school 379 boys and 436 girls are
studying. How many students are
studying in the school ?

yAs: 39 & g9 &9 9550 que <t
Rl T i3 6220 JuT T B v
e | SIG & J» fdd Jue ydg
A7

Raju bought a cupboard costing Rs.
9550 and a table costing Rs. 6220 from
the market. How much amount did
Raju spend in total?




yAs: fdgt § AHST d8 I8 9|

Solve by understanding the given symbol.

443-221 =

556-189 =

2236-100 =

22776-1126

4444-1238

yrs: 95 & AHS I I8 a9

Understand the symbol and solve:

562 6895
-111 4156
854 8975
-147 -2580

yras: 598 &9 ot AFtE fa A3e® 990
¥E A< ?

What number must be added to 598 so
that the sum becomes 990?

YRS ai9d & 1820 JuT T &g JI318
yIfenT 1 8A8 Teed & 2000 JUT

@31 €8 s guT =fur fH®sdr?
Niraj has bought a radio for Rs. 1820.
He gives Rs. 2000 totheshopkeeper.

(

2

(

How much amount will he get back?




fiHAas AHT T

IITHIE-6
w8 Hftpret &% atE ! |

ol & AHS & I8 &9 ¢

Understand the symbol and solve:

e

yHs: fog @ ANSE I 9% a9 |
Solve by observing the symbol

X101 (2 (3 |4

| ~| O | B~

YHs: U gt 39|

Fill in the blanks:

(xX7= ...
6X...... =24
SX8=......
8X...... =64
Ox5=......




yrs: fdst § mse 38 I8 ol

Solve by observing the symbols.

1|x(3|= 7
x x u x
2 x|2|=|6 3
x x = = = =
6 6| » =0
= = x
g|= = x| 4|=|8
* x =
3| = =| 8 2 x |2 =
= % = ®
x|0|= x|1|= 5
x 10| =

yas: f&x g9t R 35 fadqH T J1
fer 35" 7 fSBqH =& T ¢ I3 83
gIE 7T Aoe 967

In a sack, there is 35 kg of pulse. How
many packets of 7 kg pulse can be made?

yrs: fea A3 9 g% 48 g9 Hge
I5| 799 I3 89 '3 3 99 B I5, 3
3 e fdd 39 767

There are 48 students in a class. If 3

students are sitting on each bench, find
the number of benches in the class?




Ql: fHE® mHIE < ga&c <9 21 3 30 IgHIeT IS a3
In Mission SAMRATH Booklet: Try to solve worksheet 21 to worksheet 30

Q2: I i3 i 3 B Iad fagst IrEtfednt & wue ufgerg @ Agd &8 a3
Click on the following link and do these activities with your family members:
1. Century Banao 2. Garam ya Thanda

Q3: s fdg Ifedl fBus & wes uBItd fos g 33 enrar i e
JiStfetiv iR fa Aer, S fuer, W gy & AIfesT J9a7, § €37 AW & adl

Develop a habit of diary writing in your holidays. On one usual day note the amount of time
spent by you in different activities like sleeping, watching T.V., helping your parents etc.

e A (dfenr &) | A (et fe) | Anf (Fa &9)

Time (in hours) | Time (in minutes) | Time (in fractions)

1) =/ sleeping

2) S1.& [YE/ watching T.V

3) Hf g ©F AYTE3T II&7/

helping parents

4) 937/ playing

5) UZE"/ studying

6) IAI3 ddA/ Yoga

7) 8% 35 ©F €33 IIaY

using mobile phone

Q4: 3T YT {9 Td9 © warg el 5 AW B3|
Find five objects in your house which are of circular shape.

Q5: IT3 I ST TII1 © Wag ©mif 5 THZN 83 W3 §IaT T UfgH™ U3™ IJ] Find five
objects in your house which are of square shape and measure its perimeter.

Q6: 999, W3 w3 f3g3H & AT &8 f3Ads g

Make a design using circles, rectangles and triangles.



https://youtu.be/b-SQBnd2bFs?si=Z-it4Vft_UhSbqSB
https://youtu.be/EGoD1lYYV5o?si=euiw7tcxZ-hackDZ

Project Work
Q7: WUE Wg T B9 HIlS © Ha™ ©F g g6 for @9 9 &9 »ie afHs Ja:

He HItS T WEHTES HITT

Al W3 &% T °Hag'

ey € Hgg"

HIA'S T fage T ygor

Wre-f'e € Hdd'

U T "ggr

ye Ute (IHG) ©F HId'

ACHAI! ©F Hag'

I8/ FHAS T HIT

e T ydor

Uet o 5%

st = 58

HEITS

d& Hggr

3 QUIT3 f3wrg a3 grc fRT HAld @ a8 ¥dg ST 1500 U T I3t
9" gge Jd 3F fog a3t I fa? aI91?1500 U T I3t a9 QU3
feg Argsl vagT 50|

&< for o8 IAf wuE H3-fus™ 7 €3 3T 39 & ATfe3* 8 Aae I




fHAs AT E
TJaHIe- 1
g Aftnet 5% 8t ! |

fdgt & AHse JT I a9l

Solve by understanding the given symbol.

305 + 289 =

909 + 506 =

493 + 309

9739 + 6528

2636 + 599 =

el @ AHS I I8 &9 ¢

Understand symbol and solve :

112 3486

+2709 +4306
506 2186
+909 + 476

f&a rg® <9 359 &3a ni3 436
Ittt uFenit I5 1 A €9 4%
ff fefanmoet uzR 957

In a school 359 boys and 436 girls are
studying. How many students are
studying in the school ?

I & g9 &9 9550 Jue = fEx
YSHTIT W3 6990 JuUE © & A
ygtfent'| 99 & o fdé gue uag
37

Raju bought a cupboard costing Rs.
9550 and a table costing Rs. 6990 from
the market. How much amount did
Raju spend in total?




fdgt 3 AHSE IT I8 ad|

Solve by understanding the given symbol.

795-199 =

996-848 =

776-499 =

2256-1128

4451-1238

fdaf & AHS & I8 &9 ¢

Understand the symbol and solve:

643 7800

~478 - 471
532 10000

-289 -~ 9999

898 f&g ot Azt fa #3e® 990 I
A< ?

What number must be added to 898 so
that the sum becomes 9907?

d9A & 1420 JuT T fEq I8
HStfenT 8RS €36 § 2000 JUT
g3 QA & guT =fun fHsedr?
Niraj has bought a radio for Rs. 1420.
He gives Rs. 2000 to the shopkeeper.
How much amount will he get back?




fHas AT E

IISHIE- 2
g Aftpret % Bt ! |
1. IS A
Multiply:
963 X0 =.......... 567 X66 = ...........
40 X300 = .......... 309 X42=..........
3125 X533 =......... 473 X999 =...........

2. fEg #on fR9 165 AEla® I5 199K
Ea® ©F M3 4500 Jue T A
Aetast dF % oHS Tt 32

A showroom has 165 bicycles. Each

bicycle costs Rs. 4500. What is the
total cost of all the bicycles?

3. f&x Uz @9 600 Tadet I&5| Mfnd
248 Ut &g fAgt gradet Jxaitntt?
A packet consists of 600 chocolates.

How many chocolates are there in
248 such packets?




4, I% TS|
Solve it.

7)827 | 24)672

5. Y@ gt gq |
Fill in the blanks:

9)638 31)682

3046+ 13 =......

12321+11=......

27661+12 = ......

6. IBdst & & feae = H® 24 que
JIymr & feaet 8 &t 576 quT &3
3t B fdait feaet setnit?

A train ticket costs Rs.24. Pooja paid
Rs.576 to buy tickets, so, how many
tickets did she buy?

7. 178 Us 15 Hfont 9 g9
5T 3 IiE gt 99 Uat & fasst
U3T 9 |

178 pens are distributed among 15

children equally. Find the number of
pens left after distribution.




s I E
TIFIHIZ- 3
HUTS A=t

1. 35 fafemi T @ue fod .

a)

Write the opposite of the following:

500 JUE T 873/ A profit of Rs. 500

b) B ¥3 ST 70 JUR FT"G="/ A withdrawal of Rs. 70 from bank account.
2. I&* fordmr Afimpe? § #ftmr 3y 3 ©IA Q|

a)

Represent the following numbers on number line.
-5 b) +3

Jdot fE3 Aftmret @ Afgwr S8, fagdt Aftmr, Aftpr Jyr 3 AR YA I |

In each of the following pairs, which number is to the right of other on the

number line.
2,9 b) -11, 10
-15 3 T UA Auas Aftpret fod |

Write five integers greater than ‘-15’.

0 3 it 1w Huas Hfemret fosid |
Write five integers greater than 0.

It fEIr Auss Afimret § <o i <o fad |
Arrange the following integers in ascending order.
8-3,7,0,-9, -6

33* ﬁ ﬂ - Oz ﬂﬁ . é - E q){ ﬁv ﬁ al
Arrange the following integers in descending order.
-9,3,4,-6,8, -3



8. At 3y & I3 J9a Io* ¥ Auss Aftmref erAF U3T a3 |
Using number line add the following integers.

a) 5 +(-11)
b) (-2) + 4 + (-5)

9. H® U3T &3: Find the value of:
a) 15-(-5)+12+(-8)+(-3)
b) 160+(-150)+(-130)-(-100)

10. &3 ur& &9 €fg3 Auss Hftmim 33 | Fill the suitable integer in box.
a)2+[ |=0 b)-5+[ ]=0

11. Hftr 3y & €33 99 WG|

Subtract using number line.

a) -7f&3 5 b) 8 feT -2
12. AS® 31 Simplify.

a)2-4+6-8-10
b) 4 -(-9)+7-(-3)

13. I&T forint FAftmpet T wal3a w3 fug39 Aft U3 33|

Write the successor and predecessor of the following.
(a)-15 b) 27



TITHIE- 4

1. 35 for 939 B8 9= oy -

Write the fraction for each of the following:

a) WO/ Half b) ® - UA</ Two-Fifth
2. a) 4 HOYS fea A <t faodt f9& I ?

What fraction of a year is 4 months?

b) 10 W2 f&q fes ©f fagdt g5 I ?

What fraction of a day is 10 hours?

3. Jo faftmit B8t wim w3 g9 fad -
Werite the numerator and the denominator for the following:
a) 2 b) =
3 4
4. gfenr - wifaz 3991 § Tar@E <9t f¥s fau:

Write the fraction representing the shaded portion:

a) b)




5. 68 AH'3 3T, 24 B2 W3 18 BFAM TS| BFA W3 BFam § 5
fefenwrgevwt & fagdt & Tan@sl 3 ?

In class 6", there are 24 boys and 18 girls. What fraction of total students
represent boys and girls.

6. B 8 3T 6 TS div W3 7 ST JiTr I& 138 W3 SIS dieT, 98
dier < faodt S vangel 32

A bag contains 6 red balls and 7 blue balls. What fraction of balls represent red
and blue colour?

7. U3 93/ Find

a)20ﬁ3‘8‘°’€'§ /

un | w

of 20 books b)21 Agier = /2
7 7

of 21 apples

8. J&' fiedhw ST faodt 6fo3 9 &t 32

Which of the following does not represent any fraction?

W/ N b S\ O] d




fias a9 g
TITHIE- 5
St

1. g7 - wifas g1 B8t 95 fod w3 7o 99 fa feg f9a' 35 g6 A 5d1?

Write the fraction for the shaded part and check whether these fractions are
equivalent or not?
a)

b)

2. AZ 33 I3 ¥ (Fes3 gu) fad)

Write the lowest equivalent fraction (simplest form) of:

10 27

=]

3. 2 & 38 f¥s uzr a3, fane

Find the equivalent fraction of 3/5, having

a) Wi 18/ numerator 18

b) 99 20/ denominator 20



4. grfamr - wifaz g1 § wegfo3s fdst w3 fimfaz 96 @ gu feg Tan @I

Express the shaded portion as improper fraction and mixed fraction:

a)

b)

Ues 3 a9ct 31 Y3 a3 fa @RS wust w3gr © < A fagld Args
gt 3w i3
Sakshi covered % of her journey by car, i by rickshaw and % on foot. Find by

which means, she covered the major part of her journey.

6. f9&' & = a9 fo@aa gu <o fad

Multiply the fractions and reduce it to the lowest form (If possible):
2x I b) = X =
3) 7X3 ) 3%



SISHIS- 6
1. 35 fordhr fdat & grer a3
Multiply the following fractions:

a)§x5§ b)%xS%

2. fH®™®S 93 Match the following:

b - 2
(b) (i) 2)«:5

(c) (iii) 3 x

\..r-.-lt\.l

-

N /@\ /@\ /@\ ® 2

3. AaQ fEd Wieg uR & i3 Rs. 120 YF ificT 3 3t 4 icg R &
a3 U3 3|

If a cloth costs Rs. 120% per metre, find the cost of 413 metre of this cloth.



4. 35 foi fS& e @B e U3~ 33|

Find the reciprocal of each of the following fraction.
a) = b)>

5. I8 a3 (9 & ugs wftmr &5 I

Solve the following (Division of a fraction by a non zero whole number)

a) ? =10 b)§+5

6. ©IH'G/ Express:
A) 1fesd1Te3 & s g

1 day as a fraction of 1 week.
B) 40 AS & fom fite & o fw

40 seconds as a fraction of 1 minute.

. 3 7 15, .
Arrange the fractions Pz descending order.

8. I fedtwt fifi3 fd&" & wegfos fd& @ gu < ean |
Express each of the following mixed fractions as improper fractions.
a)2: b) 52

3 7

9. I&* &3t 934 ¥ § fimfas fda © gu <o Tang, fozg adt &
TIACQ |

Express each of the following as mixed fractions. Also represent with diagrams.

[ ]
b |

a) b) ?

o |



1. 35 fordht wifgZhr e ufgry usT 33

Find the perimeter of the following shapes:

L
M
dem/ '\ 3em
A 8m B / \,
2m 3em_~ o N -
Bm S~
=} ..________.. __.--'" M
8m 4m SCI'I.'F.'""--\_ Q O/-’Scm
Bm
E F e /3cm
2m Jemy
W Bm G p

2. féq Tgqr v ufary 68 AN I, fereT 939es U3™ 3|

The perimeter of the square is 68cm. Find its area.

3. f&q wifezTarg UsTe T 8978l 90 HE: W3 foAer 933eS 1800 TI4T HE: I
ysre T 938 y3T 9391

The length of a rectangular plot is 90m and its area is 1800 sg.m. Find the
breadth of the plot.

4.12cm x 10cm HY @ Wfe3 T ¥439e8 dt 97

What is the area of a rectangle of dimensions 12cm x 10cm?



5. Y3 TIIT, Wik 3 g TIIr W3 W TI4T €1 fare3t a9d I&* &3t a3
WSt e wigH T3 ¥439es U3 331

Find the approximate area of each of the following figures by counting the
number of squares-complete, more than half and exactly half.

6. I5* &3 fg39" & Tgar w3 w3t R 33 3 U39es U3 <

Find the area of the following figures by splitting it into rectangles and squares:
(i) (ii) 10en

dem 4cm

Bcm

dcm Bem

2Em

fom
2cm



